I

A
Y

4

&

H
7T~

k%




TFEERFRARSRARE FHRICONT

TFSFEERFRTRESBARE FREEZRDOLEVEDD,

S fM 5% 2 A 2 H

EFRM RS
=k 4 #

T

T—




—RE=FHBABRHTE

m AN T R E 106, 511FH
T E A 106, 511FH

Z 5 % & 7L

4 f 5% 2 A 2 H

E®HRTES
25 £ B M



= OA D

Gl

(B FH)
7 B AEE [BIEELY) ‘ )
" . 1 fF B
= " FTERE | TEHE
1 AaH 4 65,744 | 61,952 3,792
1 &HAEEL| 19,500| 19,500 o] Bl =
TEEFMEE 19,380
(M) AEE 17,156
HRA-HRE 1,534
g 690
% HETFHERGS 26,
2 B/ EHK 46,944 | 42,452 3,792 HET AR B 6,864
A #H £ () AEE 16,610
B -k E 1,790
it & 804
iy N 2,660
Bhk& 5,000
2 ZEENA 26,192 | 26,897 A 705
1 REEEH FEERL R OV 5 ZHIRISY
B 45 3 B R PG 25,356
a 26,192 | 26,897 A T05| e e o
N syl
@45.39M8 (17,56014) 836
@39,600M
3 Xt & 1,230 1,230 0
1 kEETFRES
248 248 0| EHRLBEORE
Y
2 2= 2= LEHRLDHS 950
=BT R = 982 982 ol ©
2t & FIRBAAMEER S 32
4 W4 13,000 | 13,500 A 500
1 Bl F E
13,000 | 13,500 A 500
B 4
5 HEIX A 345 340 5
1 ¥ & F + il 1 0
HMHBE K ELFEEE
2B Sk i 5| mevm-mAEns
By 106,511 | 103,919 2,592




7|
ARG (e )
& = AEE |FIEELY \ y
- ¥ O i B
= b1 FEEE FE4HE
1 &5 % 2,973 2,687 286
1 & & B 2.973 2,687 286| B2 HAS EH=
b=
2 EBRE 85,728 82,000 3,728
1 # £} 18,323 15,452 2,871 BESAS
2 B BE F Y 11,901 11,562 339| WEB5A. AEELEAKES
) WESA, SHEECABES
3% B O® 6,479 6,020 459|
€ N Cnil - -2
4 %R | 2,515 1,843 672| LstEELABE2AS
5 Hf # 1,516 1,464 52| MEFEE
6 & B B 350 350 0| EmE
HELES 711
oyt 50
J==4
TE H & 2,261 2,241 20 ORI e
BEBERES
BEIRIR "
B 450
8 % ¥ = 1,030 980 50
b 580
RS 3 E e
erim Gty 23,242
14 Eiﬁi@%ﬁtﬂiﬁﬁ%ﬂﬂ
9 & 3 M 24,327|  25,968| A 1,641 Bomadiaritt
@39,600M 837
EHHERETFT —4F 69
b 2T MMR<FE
AR —RSEE 179
AR 3,469
10 B & Ot 54 o 1,645
L 7.463 7.117 3q6| 7T
g £ #® ST Y2l 1,839
F D 510
11 & B A& 560 0 560| AT74AF =7
A
A e, W 9,003 9,003 ol mEi RERELE

12% 0%t &




At BLE DR

N TERAT

(Bfr: M)
72 B KREE |TEELH
- T B9 f 3
= " FELE FTERE
3 BEHE 1,158 1,162 A 4
BEEFE 390
1 % & % 1,158 1,162 A 4
EERESBRE 768
B4, 8,317 4,652 3,665
Y EeN . ’
2 & HotRIE M L 2 — 2%
1 &#EsE. W 8,317 4,652 3,665 2660
RO ’
tEETREARERE TS
1# 3,500
RARET TS
1% 1,000
e -REHAMTESS
BRfETAAT 4
1T 300
BEEET RS
1018 400
ZoMSNEEEERVAELSSE
1814 457
% =
5 A o 1 0
1 RERES 1 1 0
6 & 5,000 8,000 A 3,000
18 B £ 5,000 8,000 A 3,000| HEREETI4S 3,000
BRSNS 2,000
F B & 3,334 5,417 A 2,083
1 ¥ % % 3,334 5,417 A 2,083
Bl 106,511 103,919 2,592
() REHEHRBRSERRZIENADRAEU LIHBELES AL, 2 EL&
BN T, BT HTAZLENTEDLDET A,



H 4 lZHoWnT

\
/

SISEEREFRTREODETAEEITIROLEVET S,
A H & KRE 19, 500FM
2 H ¥ gl 34501

N R S5 4H28H

it
2



THASFEERFRTRASTHAESE

= BER | ADE Y- 2 é?ﬁi}% -
1/3 2,/3 | smmonsne
(FH) (FH) €9 | (G (FH) (-H)
E % M 342 2,946 367,902 3, 288 3,277 11
AN o 342 1,917 239,460 2,259 2,257 2
sz ) 342 1,218 152,188 1,560 1,560 0
SN ) 342 373 46,630 115 719 A 4
W 342 768 95,934 1,110 " 1,111 Al
AR B5 T 342 | 384 47,983 126 727 Al
A R ™ 342 393 .49,068 135 737 A 2
N FE T 342 326 40,683 668 671 A3
F B 342 521 65,040 863 866 A3
B o 1R TH 342 254 31,783 596 596 0
+ BT 342 331 41,369 673 675 A 2
X BT 342 202 25,277 544 547 A3
o T 342 152 18,939 494 495 Al
* ¥ M 342 447 55,789 189 782 7
w®OR T 342 534 66,678 8176 871 5
R 342 783 97,844 1,125 1,129 A 4
" T 342 466 58,209 808 812 A 4
RO o 342 238 29,674 580 574 6
ZEYT 342 749 93,542 1, 091 1,004 A3
7t 6,498 | 13,002 1,623,992 19, 500 19,500 0

X ARREFEREROEAADEHREICESHIHERICED,




T BRI @RI RF AR TR

m AN T & A 23, 260FH

oA i M= 23, 260TFH

Zz 5 % & &L

A fn5 % 2 A 2 H



»OAN D "
i (B )
& B KEE | AIEELT
g f+ =T
=X " TEEE FEEE
1 # A% 3,000 5,000 A 2,000
1 —fREEBAS 3,000 5,000 A 2,000
2 B4 20,259 15,259 5,000
1 BIEERES 20,259 15,259 5,000
3 MEIX A 1 1 0
1 ¥ & # T+ 1 1 0
H 23,260 20,260 3,000
B OH O # Ce
i (Bfr: )
& =l RKEE | AIEE LA ,
= f+ &
> 15 FE%E FEEE
1 # 5 & 1 1 0
1 B K 5 & 1 1 0
2 T iE % 23,259 20,259 3,000
1 ¥ 1w % 23,259 20,259 3,000
H 23,260 20,260 3,000
WmErFREDTEANLE WH B X ERIT
REEERES
N+ Z 81T
=ZEUFJEFEERIT
HFTIE R IT




MBRERN MR mARL TR

;ﬁ)\%ﬁﬁé 24, 868F M

A s R - 24, 868F M

=z 7l B & 7L

4 f154FE 2 H 2 H

EFRM RS
=&k 4 & Tk



= D B :
bR & (8fir - )
= B AREE | RIEENSY]
b= [ f+
= " FE4E FEE

1 A& 2,000 3,000 A 1,000

1 —BEEEAE 2,000 3,000 A 1,000
2 #BE e 22,867 19,865 3,002

1 BiIEEREE 22,867 19,865 3,002
3 M I A 1 1 0

1 ¥ & F F 1 1 0

7 24,868 22,866 2,002
= D H .
bt ' (4 )

A E| KEE | sTEELY
b5 f+ F
X 15 FEXE FEXE

1 F &% 24,868 22,866 2,002

1 ¥ & % 24,868 22,866 2,002

g 24,868 22,866 2,002

RETERAEDTANGE N+ Z 8177
FTIT 1T

10




